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GCE A LEVEL BUSINESS - COMPONENT 3 
 


BUSINESS IN A CHANGING WORLD 
 


SUMMER 2022 MARK SCHEME 
 
 


SECTION A 
 
1. (a) Explain how the potential environmental costs of Nestlé’s business activity can be 


affected by government intervention and pressure groups.  [8] 


Band 
AO1 AO2 AO3 


2 marks 2 marks 4 marks 


3 


  4 marks 
Excellent explanation of how 
potential government intervention 
and pressure groups, on 
environmental issues, to Nestlé’s 
business activity can be 
controlled by government 
intervention and pressure groups 
 
Arguments are well developed 
and in context 


2 


2 marks 
Good 
understanding of 
government 
intervention and 
pressure groups, 
on environmental 
issues. 


2 marks 
Good application of 
government intervention and 
pressure groups, on 
environmental issues, to 
Nestlé’s business activity  
 
The learner makes effective 
use of the case study context 


2-3 marks 
Good explanation of how 
potential environmental costs can 
be controlled by government 
intervention and/or pressure 
groups 


1 


1 mark 
Limited 
understanding of 
government 
intervention and/or 
pressure groups, 
on environmental 
issues. 


1 mark 
Limited application of 
government intervention 
and/or pressure groups, on 
environmental issues, to 
Nestlé’s business activity  
 
The learner makes some use 
of the case study context 
during the answer 


1 mark 
Limited explanation of how 
potential environmental costs can 
be controlled by government 
intervention and/or pressure 
groups. 


0 
0 marks 


No valid 
understanding  


0 marks 
No valid application  


0 marks 
No valid analysis  
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Sticky Note

The candidate starts by outlining some environmental costs.  Whilst this is useful, the candidate would score AO1 by outlining types of intervention carried out by pressure groups and the government.
In the second paragraph the candidate correctly identifies taxes as a form of government intervention.  This achieves AO1.  The climate change levy is within context and links to the replacement of plastic straws.  This demonstrates AO2 very well.  However, the candidate doesn’t develop this fully in the analysis.
The following paragraph applies government action in the form of a landfill tax.  This is followed up by the consideration that Nestle will need to consider their waste disposal more carefully but once again this is not fully developed for AO3.
The final paragraph considers pressure groups.  The candidate correctly identifies lobbying as a method for AO1 and relates this to the use of palm oil for AO2.  There is an implication that Nestle may have to substitute the palm oil and change production methods which develops AO3.
In summary, this answer has very good AO1 and AO2 but the development in relation to Nestle is not enough to reach full marks. AO1 2, AO2 2, AO3 2 6/10
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Sticky Note

This response has 2 clear paragraphs which is perfect for a 2 part response.  The first paragraph deals with government intervention.  Laws and regulations (lines 3 and 4) are a practical governmental measure and this scores the first AO1 point.  The candidate continues by linking the government action to the case to the case by considering restrictions on the import of palm oil.  This gains the first AO2 point as palm oil is sourced in an unsustainable manner in the case study scenario.  
When developing AO3, the candidate recognises that Nestle may have to source from alternative suppliers.  As these are likely to be sustainable palm oil farms the further impact on costs is recognised as a follow up point.
In the second paragraph lobbying is identified as an action taken by pressure groups. Raising awareness through leafleting and carrying out boycotts is also mentioned.  This allows both points to be scored for AO1.  The candidate moves into tackling the issue in the case study of Nestle generating 1.7m tonnes of plastic packaging.  When developed this score the other AO2 point.  The impact is recognised as a negatively effected brand image leading to a lack of sales turnover.  Corrective action such as changes in production methods are followed with the cost implications.  
Overall, the student raises specific actions for each theme, both themes are applied to the case study and developed with knock on effects.  Therefore, this scores AO1 2, AO2 2, AO3 4.  8/8
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SECTION A


Answer all the questions in this section.


0 1 	 Read the information below and answer the questions that follow.


	 Background


	 Nestlé is the world’s largest food and drinks company. In 1904, Nestlé began selling chocolate 
and later, in 1938, extended its product range by introducing Nescafé, a powdered extract of 
pure coffee. 


	 Today, Nestlé has a wide food and drink portfolio covering products as diverse as Nespresso 
coffee, Häagen-Dazs ice cream, Felix pet food, and confectionary such as KitKat and 
Milkybar. 


	 Breaking new ground in Asia


	 Already established in the European and American markets, including a significant 
manufacturing base in the UK, Nestlé has turned its attention to Asia and Africa. Whilst 
chocolate consumption in the UK is 7.6 kg per person per year, in Japan this is 1.2 kg. In 
neighbouring China this is only 0.1 kg and in Africa the figure is even lower. However, these 
markets are now beginning to develop a desire for chocolate. To cater for this new demand, 
in 2019 Nestlé announced plans to open its first new factory in Japan for 25 years, the main 
output of which is KitKat.  


	 Traditionally KitKat is made from milk chocolate but now many different flavours are proving 
popular in Asia. Flavours such as wasabi and green tea have helped KitKat sales in Japan 
grow significantly. The factory will focus on these more expensive versions of KitKat which are 
popular with tourists who have tripled their spending on confectionery in the past four years. 


	 A Nestlé spokesperson said, “Over the past few years, Nestlé was able to demonstrate good 
growth in Japan despite a challenging environment. This good performance can be explained 
with our strategic focus on innovation and premium, for example with KitKat.”


	 Developments in Africa


	 Nestlé has significantly increased its investment in emerging markets such as Africa. It has 
spent more than $850 m on new factories and warehouses in Africa, a move encouraged 
by African politicians. Nestlé has undertaken significant research and development in order 
to produce products to suit African tastes. However, progress in these markets could be 
problematic as the inability to supply more cocoa beans in the short-term to meet demand may 
increase the cost of chocolate production.


	 Moving into new geographical areas is not without its risks. As consumer behaviour, trade 
regulations and employment laws vary between countries it is important that Nestlé assess 
each option carefully as it moves into new areas.
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2. (a) Explain how the single European currency has been beneficial to manufacturing 
businesses in the Eurozone. [10] 


Band 
AO1 AO2 AO3 


4 marks 4 marks 2 marks 


3 


3-4 marks 
Excellent understanding of 
a range of benefits of the 
single European currency 
to businesses in the 
Eurozone 


3-4 marks 
Excellent application to 
manufacturing businesses 
in the Eurozone 


 


2 


2 marks 
Good understanding of a 
range of benefits of the 
single European currency 
to businesses in the 
Eurozone 


2 marks 
Good application to 
manufacturing businesses 
in the Eurozone 


2 marks 
Good explanation of how the 
single European currency 
has been beneficial to 
businesses in the Eurozone 


1 


1 mark 
Limited understanding of 
at least one benefit of the 
single European currency 
to businesses in the 
Eurozone 


1 mark 
Limited application to 
manufacturing businesses 
in the Eurozone 


1 mark 
Limited explanation of how 
the single European currency 
has been beneficial to 
businesses in the Eurozone. 


0 0 marks 
No valid understanding  


0 marks 
No valid application  


0 marks 
No valid explanation 


Indicative content: 
 
Price transparency means that rather than dealing in multiple currencies and having to convert 
prices from one currency to another, the price of raw materials bought in Italy could be compared 
to prices of the same item in other Eurozone countries.  Therefore, making it much easier to find 
the cheapest suppliers. As the cost reduction can be passed on to customers this may result in 
an increase in sales for items which are price elastic. 
 
Reduced need for exchange cost. As currency does not need to be transferred from one to 
another this will negate the need for additional costs incurred when exchanging currency. The 
lower cost of trading will lead to an overall cost reduction. If selling price remains the same, this 
means that businesses would generate more profit. This could then be put into research and 
development and perhaps open up more sales opportunities in the future. 
 
As it will be easier to carry out international sales as businesses may choose to produce their 
website in multiple languages covering the Eurozone countries. This will enable access to a wider 
market with the confidence that the prices on their website remain consistent with their host 
country. This may increase demand from a wider market and expand market share of some 
businesses. 
 
As there will be no exchange rate fluctuation businesses in the Eurozone do not have to spend 
additional time adjusting their prices between different countries in order to remain competitive. 
Equally, imported raw material or products from other Eurozone countries will not increase or 
decrease due to exchange rate fluctuation once the sale price has been agreed. This makes 
trade easier for those in Eurozone when trading with other Eurozone nations. 
 
Credit any other valid point. 
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Sticky Note

This candidate starts with the reduced need to be concerned about fluctuating currency rates.  This is correct but only when dealing with other nations in the Eurozone.  
Similarly, the following issue “manufacturers don’t have to keep changing the price of their manufactured goods in currencies” could be clearer.  
The third issue that relates to the fact that if a manufacturer is buying and selling in Euros, a weakening Euro would have no effect of the transaction price between Euro nations.  Again, this is true but is not further developed. 
In this response, each of the points could be made more clearly to demonstrate a good understanding of the implications.  Therefore, although understanding is more than limited, it is not excellent.
Application is limited as there is a sense of trading materials and physical goods, but the candidate doesn’t go into any further detail.
Analysis in each case is limited.  If the candidate had extended their arguments further by considering the knock-on effects of issues then this would lead to better progression up the mark scheme.
Score = AO1 2, AO2 1, AO3 1
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Sticky Note

This candidate begins by defining the Eurozone.  This is good practice as it gives the examiner confidence that the candidate knows the theme of the question. 
“No conversation costs” is the first benefit addressed.  The candidate goes on to explain the cost saving with an impact on those buying “materials” for the AO2 point.  Although this could be developed further it is a good start.
Next, the impact of confidence due to price transparency is addressed.  The candidate gives the example of Mercedes in Germany trading with other Eurozone countries being certain of the price of materials.  Although this could be stronger in its development it is comparatively stronger than the previous candidate’s response.
The idea of the Euro becoming a large currency with stability and power is discussed in the next paragraph.  This is indeed true as the Euro is much more stable than the previous collection of smaller currencies used by countries that now comprise the Eurozone.  This has led to a benefit when exporting goods into the Eurozone.  An example would further strengthen this part of the answer, but it is still valid analysis.
The last point is invalid as the question is asking for benefits.  However, the candidate has done will in developing the scoring zones.  This response received AO1 3, AO2 3, AO3 2 (8/10).
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SECTION B


Answer one question from this section.


0 2 	 International trade


	 a)	 Explain how the single European currency has been beneficial to manufacturing 
businesses in the Eurozone. � [10]


	 b)	 “Governments operating a free trade policy will offer more opportunities to UK 
businesses than protectionism.” Discuss this statement. � [20]


0 3 	 Operations


	 a)	 Explain how small-scale independent retail businesses can survive in the market 
despite the existence of large retail businesses. � [10]


	 b)	 “Glocalisation is always the best strategy for businesses to achieve global growth.” 
Evaluate this statement.  � [20] 


0 4 	 Performance


	 a)	 Explain ways in which a business using capital-intensive production may measure its 
workforce performance.  	 [10]


	 b)	 Consider the view that financial performance indicators are always a better measure of 
success than non-financial performance indicators. 	 [20]


END OF PAPER
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2. (b) “Governments operating a free trade policy will offer more opportunities to UK 
businesses than protectionism.” Discuss this statement.  [20] 


Band 
AO1 AO3 AO4 


4 marks 8 marks 8 marks 


3 


 6-8 marks 
Excellent analysis of the 
impact on UK businesses of 
operating free trade and 
protectionist policies 
 
The analysis is balanced 
and detailed 
 
Key issues have been well-
developed with a clear line 
of argument 
 
In depth analysis required 
for this band 


6-8 marks 
Excellent evaluation of the 
impact upon UK businesses of 
operating free trade and 
protectionist policies 
 
The evaluation is balanced and 
detailed 
 
Clear judgements are made 
with supporting statements to 
build an argument 
 
A holistic evaluation may be 
offered with an overall 
conclusion 


2 


3-4 marks 
Good understanding of 
free trade and 
protectionist policies 


3-5 marks 
Good analysis of the impact 
on UK businesses of 
operating free trade and 
protectionist policies 
 
The analysis is uneven with 
some well-developed points 
and others that are more 
limited in their development 


3-5 marks 
Good evaluation of the impact 
upon UK businesses of 
operating free trade and 
protectionist policies 
 
The evaluation provides a 
balanced argument  
 
Judgements made with some 
attempt to support evaluation 
 
The answer may contain a brief 
conclusion 


1 


1-2 marks 
Limited understanding 
of free trade and/or 
protectionist policies 


1-2 marks 
Limited analysis of the 
impact on UK businesses of 
operating free trade and/or 
protectionist policies 


1-2 marks 
Limited evaluation of the impact 
upon UK businesses of 
operating free trade and/or 
protectionist policies 
 
Judgements are superficial and 
unsupported 
 
The evaluation is uneven and 
one-sided 


0 0 marks 
No valid understanding  


0 marks 
No valid analysis  


0 marks 
No valid evaluation 
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Indicative content:  
 
Free trade: 
 
As the UK could trade without tariffs UK goods may appear cheaper in other countries. This may 
increase the level of demand for UK goods and consequently increase revenue from sales.  
 
Operating without quotas will enable British businesses to supply in order to meet demand in 
foreign markets rather than be restricted by an artificial maximum level of imports to countries 
such as the US. 
 
Free trade may see many foreign goods flooding into the UK at lower prices. As a tariff could not 
be put in place to raise the costs and therefore the price of these goods or service, UK 
businesses may suffer due to the high production and labour costs in the UK having to be passed 
on in the form of higher prices. 
 
 
Protectionism: 
 
As the UK will be in a position to impose tariffs and quotas from any trading nation this may 
benefit UK businesses by restricting or increasing the price of what may otherwise be cheap 
imports. This is likely to improve the position of UK goods within the market. 
 
However, tariffs and quotas may be imposed on UK goods being exported to the EU where free 
trade would have previously been in place. This can reduce demand for UK goods and as a 
result lead to a reduction in revenue for UK businesses. 
 
Credit any other valid point. 
 





		A510U30 Q2b MS.pdf

		GCE A LEVEL MARKING SCHEME

		INTRODUCTION




















11



Sticky Note

This response begins well with a clear understanding of the difference between protectionism and free trade.  It is good practice to begin by defining the key terms in the question.  Methods of protectionism such as quotas are also identified as well as the reason for their use, to protect domestic labour and businesses.
The next paragraph deals with a key advantage of free trade i.e. cheaper imports and a wider range of good being available.  The candidate makes good use of business terminology throughout the paragraph noting that free trade helps to break down monopolies and create substitutes suitable for different economic conditions.
A counterpoint relating to the lack of protection for UK businesses is also positioned in this paragraph.  It is a good idea to use examples where possible in the 20 mark essays as this helps to quickly explain different situations.  This can help with judgement.  In this case, the candidate discusses cheap imports from areas such as China.  It would be beneficial to explain why these imports are less expensive to product.
A good counterargument which supports protectionism is made in the following paragraph.  This also qualified by a note that the WTO’s attempt to support free and open trade being an issue to countries pursuing protectionism.  However, no further detail is offered.
In the next paragraph the candidate moves away from the question and discusses free movement of labour.  This relates to a single market rather than the free trade argument and so is does not attract marks.
The end judgement reiterates the earlier points rather than using the evidence to build a substantial conclusion.  Judgement is also thin throughout the response and as so is the weakest scoring area
AO1 4, AO3 4, AO4 3 (11)
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Sticky Note

This script starts with a definition of free trade.  It would be more useful to identify key features of free trade and contrast this with the features of protectionism.
The next paragraph makes some use of the case study in part A of this exam paper.  The point is valid and has some development therefore it is worth using.  A judgement would also be useful at the end of the paragraph.  
Following this, the candidate outlines the problems tariffs would cause to UK businesses.  The example of financial services is relevant to the UK and the point is well developed to build analysis marks.  Where there is a technical mechanism for economic features such as a tariff, candidates should attempt to fully develop their points to explain how such a policy may operate.
The next paragraph discusses access to wider markets offered by free trade.  This is again well developed and gives a strong chain of argument to support the point.  This helps to secure strong analysis marks.
The counter argument is well represented and again offers some good reasoning and judgment.  The judgement is further supported in the final paragraph with conditional points making this a very competent piece of work.  
Overall, the analysis is strong enough to achieve excellent as it has a good depth.  The evaluation would benefit from more ‘in paragraph’ judgement during the main discussion.  Evaluation should ideally be throughout the piece rather than just at the end.
AO1 4, AO3 5 AO4 4
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SECTION B


Answer one question from this section.


0 2 	 International trade


	 a)	 Explain how the single European currency has been beneficial to manufacturing 
businesses in the Eurozone. � [10]


	 b)	 “Governments operating a free trade policy will offer more opportunities to UK 
businesses than protectionism.” Discuss this statement. � [20]


0 3 	 Operations


	 a)	 Explain how small-scale independent retail businesses can survive in the market 
despite the existence of large retail businesses. � [10]


	 b)	 “Glocalisation is always the best strategy for businesses to achieve global growth.” 
Evaluate this statement.  � [20] 


0 4 	 Performance


	 a)	 Explain ways in which a business using capital-intensive production may measure its 
workforce performance.  	 [10]


	 b)	 Consider the view that financial performance indicators are always a better measure of 
success than non-financial performance indicators. 	 [20]


END OF PAPER











